
Sn Ques ot1 ot2 ot3 ot4

1
Selection generation after generation with the 

intercrossing of selects is :-
Mass selection Full sib selection Half sib selection Recurrent selection

2 2n - 2 represents :- Nullisomic Tetrasomic Trisomic Monosomic

3 2VF₂ - (VB1₁ + VB₂) is equal to :- 1/4 D 1/2 D + 1/4 H+E 1/2 D 1/2 D + 1/4 H

4 Number of stamens in rice flower are :- 3 4 5 6

5
Association between two independent variables is 

explained by :-
Regression Correlation Multiple Regression None of these

6 H.G. Khorana got Nobel Prize for his work on :- Breeding work on wheat
Genetic code and gene 

synthesis 

Inheritance study in crop 

plants

Statistical analysis of 

breeding work in maize

7

How many different combinations of maternal and 

paternal chromosomes can be packaged in gametes 

made by an organism with a diploid number of 8 (2n 

= 8) ?

2 4 8 16

8
Minimum degree of freedom required to draw the 

valid results is :-
8 10 12 14

9 In balanced lethal system of fixation of heterosis :- Homozygotes die Heterozygotes die
Both Homozygotes and 

Heterozygotes die
None of these

10
In crop improvement, heterosis can be partially 

exploited through :-
Hybrid varieties Synthetic varieties Composite varieties

Synthetic & composite 

varieties
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11 A flanking marker is :-
Present on one side of the 

gene of interest

Present on either side 

of the gene of interest

Present  in between of 

the gene of interest

Present  in between 

and on both side of the 

gene of interest

12
Inbred lines from a cross between two inbred lines 

for gene mapping are referred to as :-
Recombinant inbred lines Inbred lines Top cross lines Test cross lines

13
Molecular analysis of an individual genotype refers 

to :-
Genotyping Phenotyping Sequencing None of these

14 In Dominant gene action "dominance" applies to :-
Relationship of genes at the 

same locus

Relationship of genes 

at different loci

Relationship of alleles at 

the same locus

Relationship of alleles 

at different loci

15 The main genetic cause of genetic correlation is :- Pleiotropy Linkage
Both pleiotropy and 

linkage
None of these

16
Various crosses obtained by using a common tester 

are called as :-
Single crosses Double crosses Three way crosses Test crosses

17 In stability analysis b  i= 0 indicates :- Average stability Above average stability Below average stability Absolute stability

18 Bagging is done to :- Avoid cross pollination Avoid self pollination
Achieve desired 

pollination

Prevent contamination 

from foreign pollen

19
Which of the following design is used to test a large 

number of genotypes in a limited area ?
Randomized Block Design Augmented Design Latin Square Design

Completely 

Randomized Design

20 The genetic constitution of an organism is called :- Genotype Trait Phenotype Genome

21
The International center for Genetic Engineering and 

Biotechnology is located at :-
Kolkata Bangluru New Delhi Chandigarh

22
In which of the gene action, the phenotype faithfully 

reflects the genotype :-
Additive Dominance Additive X dominance Epistasis



23 Which of the following is not an ionizing radiation :- X - rays UV  -rays Cosmic - rays Alpha - rays

24
Which of the following statement is/are  true in 

relation to the Law of Segregation ?

Alleles separate from each 

other during gametogenesis

The segregation of 

alleles is due to the 

segregation of 

Law of segregation is the 

law of purity of gametes
All of these

25
When standard deviation is expressed in percent of 

mean, it is known as :-
Variance Coefficient of variation Standard error of mean Critical difference

26
How many homozygotes will be produced if a 

dihybrid Ab/aB is exposed to inbreeding ?
2 4 6 8

27 Transposon is also known as :- Pseudo gene Jumping gene Conservative gene Co-integrate gene

28
In field crops, under PPV & FR Act, a variety can be 

protected maximum for :-
5 Years 10 Years 15 Years 20 Years

29 The fixable gene action is :- Additive x dominance Dominance
Additive and additive x 

additive type of epistasis

Additive and additive x 

dominance type of 

epistasis

30
The ratio of genetic covariance to the phenotypic 

covariance is referred to :-
General combining ability Selection differential Co heritability Heritability

31
Cross pollination facilitated by dichogamy is found in 

:-
Maize Pigeon pea Cotton All of these

32

The estimate of General Combining Ability and 

Specific Combining Ability effects in plant breeding 

are based on :-

First order statistics Second order statistics Third order statistics Fourth order statistics

33 Point mutation involves :- Deletion Insertion Duplication
Change in single base 

pair

34
Genetic purity of seed means freedom of seeds from 

:-
Defective seeds Inert material

Other distinguishable 

variety seeds
weed seeds



35
In general resistance, the rate of pathogen 

reproduction is :-
Always zero Never zero Sometimes zero Frequently zero

36

How many growing seasons are required to 

complete one selection cycle in reciprocal recurrent 

selection ?

1 2 3 4

37
One of the important predictable feature of 

environment is :-
Varying nitrogen doses Weather fluctuations Rain fall Floods

38 Triple test cross is an extension of :- NC Design I NC Design II NC Design III Diallel

39 Einkorn is :- Maize Rye Wheat Sorghum

40
Initial gene pool in development of synthetic variety 

consists of :-
Population Pure line Inbreds

Recombinant inbred 

line

41 Mapping populations are :- RILs F₁ generation Inbreds Pure lines

42
Which of the following gene pool leads to 

production of fertile hybrids ?
GP 1 GP 2 GP 3 GP 4

43 Maize plant is a :- Monoecious Dioecious Hermaphrodite All of these

44 Wind pollination is common in :- Legumes Orchids Grasses Lilies

45 Holandric genes are :- Genes carried on autosomes
Genes carried on X- 

chromosomes

Genes carried on Y- 

chromosomes

Genes carried on any 

chromosome

46 Student's 't test' is used with :- Paired observations Unpaired observations
Paired and unpaired 

observations
None of these



47 A bivalent consists of :-
Two chromatids and one 

centromeres

Two chromatids and 

two centromeres

Four chromatids and two 

centromeres

Four chromatids and 

four centromeres

48 The selection intensity is expressed by :- r R₂ bᵢ k

49 The specific combining ability is estimated from :- Half sib families Full sib families Single crosses Inbred lines

50 Where is the secondary center of origin of rye ? Afghanistan China Central America Hindustan

51 Plant biotechnology involves :-
Production of valuable 

products from plants

Rapid clonal 

multiplication of 

desired genotypes

Production of virus free 

plants
All of these

52
Cris - cross inheritance applies to which type of the 

gene inheritance :-
Sex liked gene inheritance

Sex influenced gene 

inheritance

Sex limited gene 

inheritance
Cytoplasmic inheritance

53 Artificial seeds are :-
Seeds produced in 

laboratory condition

Seeds encapsulated in 

a gel

Somatic embryos 

encapsulated in a gel

Somatic cells 

encapsulated in a gel

54 When did PPV & FR Act 2001 came into force ? Jan. 2002 Jan. 2003 Jan. 2004 Jan. 2005

55

If the mean and standard deviation of pearl millet 

yield are 20 Kg and 5 Kg respectively, the coefficient 

of variation will be :-

15% 20% 25% 30%

56 Baldness in humans is an example of :- Sex linked trait Sex influenced trait Sex limited trait
Cytoplasmic inherited 

trait

57
If the same lines are also used as tester in L x T 

design, then :-

It is equivalent to partial 

diallel design

It is equivalent to NCD 

design II

It is equivalent to full 

diallel design

It is equivalent to 

biparental mating 

design

58
Which of the following cell organelle  is not bound by 

cell membrane :-
Lysosome Spherosome Peroxisome Ribosome



59
Breakage -fusion-bridge cycles of crossing over of 

paracentric inversion are most commonly found in :-
Pearl millet Maize Sorghum Wheat

60 Scientific name of macaroni wheat is :- Triticum aestivum Triticum durum Triticum dicoccum Triticum compactum

61

The concept depicted by a cross in which the 

phenotype of F₁ generation expresses both the 

parents to some degree is :-

Incomplete dominance Law of dominance Inheritance of one gene Co - dominance

62
Coefficient of inbreeding for random mating 

population is :-
0 1 2 3

63
Through mutation breeding maximum varieties have 

been released for the character :-
Salt tolerance Improved grain quality Increase in height Reduction in height

64 The flow of information from RNA to DNA is called:- Transcription Translation Teminism Central dogma

65
The tendency of population to remain in genetic 

equilibrium may be disturbed by :-
Lack of selection Lack of migration Lack of random mating Lack of mutation

66
How many possible double cross hybrids could be 

made from ten inbred lines of maize ?
40 240 630 830

67 Cross pollination in cotton ranges :- < 5% 5-30% > 50% None of these

68
The race composition of a pathogen changes in 

response to :-
Environment

The resistant gene 

present in host

The virulence factor 

present in pathogen

Race composition in 

the pathogen

69
In lac operon, which of the following codes for the 

enzyme β - galactosidase ?
Lac Z Lac Y Lac A Operator

70
Seed multiplication ratio in gram and groundnut are, 

respectively :-
1 : 10 and 1 : 20 1 : 20 and 1 : 10 1 : 8 and 1 : 10 1 : 10 and 1 : 8



71 Heritability is not dependent on :- Genotypic effect Population size Gene frequencies Environment

72
Linkage between the genes for resistance with some 

undesirable genes is referred to as :-
Compatible linkage Genetic linkage Linkage drag Useful linkage

73 Insect resistance breeding is more difficult, because :-
Host specificity is less 

marked

Fairly simple 

inheritance

Biological strains are less 

common

Have complex 

inheritance

74
When 'n' genes are segregating, the smallest size of 

the perfect F₂ population would be :-
2ⁿ 3ⁿ 4ⁿ 0ⁿ

75 Headquarters  of UPOV is at :- Munich Geneva Rome New York

76
The plant cell organelle associated with fat 

catabolism is :-
Lomasome Mesosome Glyoxisome Microtubule

77
Re-constitution is not possible of the genetic form of 

:-
Hybrid Synthetic population Multi lines Composite population

78
Which of the following method is not used for inbred 

line improvement ?
Pedigree selection Mass selection Gametic selection Back cross method

79
The storage life for seed having moisture content 9-

10 % at temperature not exceeding 90° F is :-
One Year Two Years Three Years Four Years

80
Site of the mitochondria that contains enzymes for 

Kreb's cycle  is:-
Outer membrane Inner membrane Inter membrane space Matrix

81
Which of the following test is not used for testing 

seed viability ?
T Z- Test I C- Test GADA - Test Phenol test

82
Which of the following is not a DNA sequencing 

method ?
LM - PCR Edmans method Sanger's method

Maxam - Gilbert 

method



83

When both additive and non additive gene effects 

are important in the expression of a trait, the most 

appropriate selection scheme is :-

Pure line selection Mass selection
Simple recurrent 

selection

Reciprocal recurrent 

selection

84
The male sterility used in the development of hybrid 

wheat has been derived from :-
Triticum dicoccum Triticum timopheevii Triticum durum Triticum monococcum

85
Maximum number of mutant varieties are produced 

with the treatment  :-
EMS UV rays Sodium azide Gamma rays

86

The phenomenon of the reversion of mature cells to 

the meristematic state leading to the formation of 

callus is known as :-

Redifferentiation Dedifferentiation Differentiation Organogenesis

87 The first transgenic crop in the world is :- Cotton Soybean Tobacco Flax

88
Main objective of the use of genetically modified  

herbicide resistant  crops is to :-

Reduce herbicide 

accumulation in food 

articles for health safety

Encourage eco-friendly 

herbicides

Elimination of weeds 

from the field without 

use of manual labour

Elimination of weed 

from the field without 

use of herbicides

89 Which is not a notified variety of Taramira :- Karan Tara T - 27 Narendra Tara Jobner Tara

90 Moderate inbreeding depression is common in :- Carrot and onion Alfalfa and sorghum Maize and Bajra Onion and sunflower

91
Advantage of heterosis can be taken permanently by 

clonal selection in which of the following :-
In sexually propagated crops

In Asexually 

propagated crops

In genetically modified 

crops
In tissue cultured crops

92 DIMBOA imparts resistance against :- Corn borer Cotton bollworm Army worm Shoot fly

93 DNA chip technology  can be used for detection of :- RFLPs RAPDs AFLPs SNPs

94

Open pollination of a group of genotypes (generally 

selected) in isolation in a way to promote random 

mating inter se  is called :-

Biparental mating Polycross Three way cross Back cross



95 Which of the following is the shortest mitotic stage ? Prophase Metaphase Anaphase Telophase

96
Which of the following statement is not correct 

about a randomized complete block experiment ?

Every block is randomized 

separately from  other blocks

Every treatment must 

appear at least  once in 

each block

Each block contains a 

different set of 

treatments

Treatments are 

randomized in  each  

block

97 Choose the correct statement  for tandem selection:-
Improvement of all the 

characters is done in one go

Improvement of the 

characters is at random

Improvement of 

characters is done one 

after the  another

Improvement is done 

for adaptability only

98 In tissue culture frequent sub-culturing induces  :- Temporal modification Somaclonal variation Cultural shock Somatic hybrid

99
The direction of block in field experiment in 

Randomized block design is :-

Perpendicular to fertility 

gradient

Parallel to fertility 

gradient

At an angle of 45° to 

fertility gradient
All of these

100 Single low'/'0'  in mustard represents :-
Erucic acid < 4% of total oil 

content

Erucic acid <2% of total 

oil content

Glucosinolate  <2% of 

total oil content

Erucic acid and 

Glucosinolate < 4% of 

total oil content

Sn Ques ot1 ot2 ot3 ot4

1
वयणं को आऩस भं सॊकयण के साथ-साथ ऩीढ़ी दय 
ऩीढ़ी वयण कयना कहराता है :-

सभूह वयण ऩूणण सहोदय वयण अर्द्ण सहोदय वयण आवती वयण

2 2n - 2 ननरुपऩत कयता है :- द्विन्मुन सूत्री द्विअनध सूत्री एकाधी सूत्री एकन्मून सूत्री

3 2VF₂ - (VB1₁ + VB₂) के फयाफय है :- 1/4 D के 1/2 D + 1/4 H+E के 1/2 D के 1/2 D + 1/4 H  के

4 चावर के ऩुष्ऩ भं ऩुकेसयं की सॊख्मा होती है :- 3 4 5 6
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5 दो स्वतॊत्र चयं के फीच सम्फन्ध सभझामा जाता है :- प्रनतगभन िाया सहसम्फन्ध िाया फहुप्रनतगभन िाया इनभं से कोई नहीॊ

6
एच.जी. खयुाना को उनके द्वकस कामण के नरए नोफेर 
ऩुयस्काय प्राप्त हुआ था :-

गेहूॉ भं प्रजनन कामण जेनेद्विक कोड व जीन 
सॊशे्लषण

पसरीम ऩौधं भं 
आनुवाॊनिकीम अध्ममन

भक्का भं प्रजनन कामण 
की साॊख्ख्मकीम व्माख्मा

7

एक प्राणी ख्जसकी द्विगुख्णत सॊख्मा 8(2n = 8) है, उसके 
भात ृएवॊ पऩत ृगुणसूत्रं के द्वकतने पवनबन्न सॊमोजन 
मुग्भकं भं पवद्यभान यह सकते है ?

2 4 8 16

8
सही ऩरयणाभ प्राप्त कयने के नरए स्वतॊत्रता सॊख्मा 
कभ से कभ द्वकतनी होनी चाद्वहए :-

8 10 12 14

9
सॊकय ओज के ख्स्थयीकयण के सॊतुनरत घातक तॊत्र भं 
:-

सभमुग्भजी भय जाते है पवषभमुग्भजी भय जाते 
है

सभमुग्भजी एवॊ 
पवषभमुग्भजी भय जाते है इनभं से कोई नहीॊ

10
पसर सुधाय भं सॊकय ओज का आॊनिक रूऩ से 
उऩमोग द्वकमा जा सकता है :-

सॊकय द्वकस्भं िाया सॊख्श्लष्ट द्वकस्भं िाया नभनित द्वकस्भं िाया सॊख्श्लष्ट एवॊ नभनित 
द्वकस्भं िाया

11 एक फ्रेद्वकॊ ग नचन्हक :-
वाॊनित जीन के एक तयप 
उऩख्स्थत होता है

वाॊनित जीन के दोनं 
तयप उऩख्स्थत होता है

वाॊनित जीन के फीच भं 
उऩख्स्थत होता है

वाॊनित जीन के फीच 
भं तथा दोनं तयप 
उऩख्स्थत होता है

12
जीन नचत्रण के नरए दो अॊत: प्रजात ऩॊपिमं के भध्म 
सॊकयण से प्राप्त अॊत: प्रजात ऩॊपि कहराती है :-

ऩुनमोख्जत अॊत: प्रजात ऩॊपिमाॉ अॊत: प्रजात ऩॊपिमाॉ िीषण सॊकय ऩॊपिमाॉ ऩयीऺक सॊकय ऩॊपिमाॉ

13
प्रत्मेक जीन प्रारूऩ के आख्ववक पवशे्लषण को कहते है 
:-

जीनोिाइपऩॊग पीनोिाइपऩॊग अनुक्रभण इनभं से कोई नहीॊ

14 प्रबावी जीन द्वक्रमा भं प्रबापवता प्रमुि होती है :-
एक ही रोकस ऩय जीनं के 
सम्फन्ध भं

अरग - अरग रोकस 
ऩय जीनं के सम्फन्ध भं

एक ही रोकस ऩय 
मुग्भपवकख्पऩमं के 
सम्फन्ध भं

अरग - अरग रोकस 
ऩय मुग्भपवकख्पऩमं के 
सम्फन्ध भं

15
आनुवॊनिक सह - सम्फन्ध का प्रभुख आनुवॊिकीम 
कायण है :-

फहुप्रबापवता सहरग्नता फहुप्रबापवता एवॊ 
सहरग्नता इनभं से कोई नहीॊ



16
सवणननष्ठ ऩयखी के प्रमोग से प्राप्त पवनबन्न सॊकयं को 
कहते है :-

एकर सॊकय द्विसॊकय पत्रसॊकय ऩयीऺण सॊकय

17 #AAROBOT_17_H.png# औसत स्थानमत्व औसत से उच्च स्तयीम 
स्थानमत्व

औसत से ननम्न स्तयीम 
स्थानमत्व ऩूणण स्थानमत्व

18 थनैरकयण द्वकमा जाता है :-
ऩय ऩऩयागण से फचने के 
नरए

स्वऩयागण से फचने के 
नरए

वाॊनित ऩयागण प्राप्त 
कयने के नरए

अवाॊनित ऩयागण से 
सॊदषूण को योकने के 
नरए

19

सीनभत ऺेत्र भं अनधक सॊख्मा भं जीन प्रारूऩं के 
ऩयीऺण हेत ुननम्ननरख्खत भं से द्वकस प्रखवड का 
उऩमोग द्वकमा जाता है :-

मादृख्च्िकीकृत ब्राक 
द्वडज़ाइन सॊवनधणत द्वडज़ाइन रेद्विन स्कॉमय द्वडज़ाइन ऩूणणत: मादृख्च्िकीकृत 

द्वडज़ाइन

20 एक प्राणी का आनुवाॊनिक सॊघिन कहराता है :- जीनप्रारूऩ पविेषक रऺणप्रारूऩ जीनोभ

21
आनुवाॊनिकी इॊजीननमरयॊग एवॊ जैव तकनीक का 
अॊतयाणष्डीम कंद्र अवख्स्थत है :-

करकत्ता फंगरुरु नई द्वदपरी चॊडीगढ

22
द्वकस जीन द्वक्रमा भं रऺणप्रारूऩ, जीनप्रारूऩ को 
ननष्ठाऩूवणक दिाणता है :-

मोगिीर प्रबापवता मोगिीर X प्रबापवता प्रफरता

23 ननम्न भं से कौन आमनकायी पवद्वकयण नहीॊ है :- एक्स द्वकयणं ऩयाफंगनी द्वकयणं कासनभक द्वकयणं अपफ़ा द्वकयणं

24
ननम्ननरख्खत भं से पवसॊमोजन ननमभ के सम्फन्ध भं 
कौनसा/कौनसे कथन सही है :-

मुग्भक जनन के सभम ऩय 
मुग्भपवकपऩी एक दसुये से 
अरग होते है

अर्द्णसूत्रण के सभम 
गुणसूत्रं के पवसॊमोजन 
से मुग्भपवकख्पऩमं का 
पवसॊमोजन होता है

पवसॊमोजन ननमभ, 

मुग्भकं की िुर्द्ता का 
ननमभ है

इनभं से सबी

25
जफ भानक पवचरन को औसत के प्रनतित के रूऩ भं 
व्मि कयते है तो इसे कहते है :-

प्रसयण प्रसयण गुणाॊक औसत की भानक त्रिुी क्राख्न्तक अॊतय

26
मद्वद एक द्विसॊकय Ab/aB  भं अॊत: प्रजनन द्वकमा जाए 
तो प्राप्त सभमुग्भकं के द्वकतने प्रकाय हंगे :-

2 4 6 8

27 ट्राॊसऩोजोन को इस नाभ से बी जाना जाता है :- आबासी जीन कूदने वारे जीन सॊयऺी जीन कोइॊिीगे्रि जीन



28

ऩी ऩी वी एवॊ एप आय एक्ि भे पसरं की एक 
द्वकस्भ को अनधकतभ द्वकतने वषं तक सुयऺा प्रदान 
की जाती है :-

5 वषण 10 वषण 15 वषण 20 वषण

29 ख्स्थयीकयण मोग्म जीन द्वक्रमा है :- मोगिीर X प्रबापवता प्रबापवता मोगिीर एवॊ मोगिीर  
X  मोगिीर  प्रफरता

मोगिीर एवॊ मोगिीर  
X  प्रबापवता प्रफरता

30
आनुवाॊनिक सहप्रसयण व रऺणप्रारूऩी सहप्रसयण के 
अनुऩात को कहते है :-

साभन्म सॊमोजक ऺभता वयण द्वडपयेन्िीअर सहवॊिागनतत्व वॊिागनतत्व

31
डाइकोगेभी िाया पे्ररयत ऩय ऩयागण द्वकसभं ऩामा 
जाता है ?

भक्का अयहय कऩास इनभं से सबी

32

ऩादऩ प्रजनन भं साभान्म सॊमोजन ऺभता व पविेष 
सॊमोजन ऺभता प्रबावं का आकरन आधारयत होता 
है :-

प्रथभ िणेी सॊख्ख्यमकी ऩय द्वितीम  िणेी 
सॊख्ख्यमकी ऩय ततृीम िणेी सॊख्ख्यमकी ऩय चतुथण िणेी सॊख्ख्यमकी ऩय

33 पफन्द ूउत्ऩरयवतणन भं होता है :- पवरोऩन ननवेिन द्विगुणन एकर ऺाय मुग्भ भं 
ऩरयवतणन

34 फीजं की आनुवाॊनिक िुर्द्ता से आिम फीजं का :-
िूिे पूिे हुए फीज से भुि 
होना

ननख्ष्क्रम ऩदाथो से 
भुि होना

अन्म पवबेद की जाने 
मोग्म द्वकस्भं के फीजं 
से भुि होना

खयऩतवाय के फीजं से 
भुि होना

35
साभान्म योनधता भं ऩयऩोषी के जनन की दय होती है 
:-

सदा िून्म कबी िून्म नहीॊ कबी कबाय िून्म फहुधा िून्म

36
व्मुत्क्रभ आवतीवयण भं एक वयण चक्र को ऩूया कयने 
भं द्वकतने वषण रगते है ?

1 2 3 4

37 वातावयण का एक भत्वऩूणण ऩूवाणनुभान घिक है :- नाइट्रोजन की पवनबन्न भात्राएॉ भौसभ का उताय-चढाव वषाण फाढ़

38 पत्रसॊकय ऩरयऺाथण सॊकयण पवस्तयण है :- एन.सी. द्वडज़ाइन I का एन.सी. द्वडज़ाइन II का एन.सी. द्वडज़ाइन III का व्मत्मासी

39 इनकानण है :- भक्का याई गेहूॉ ज्वाय



40
सॊख्श्लष्ट द्वकस्भ के ऩरयवधणन भं प्रायख्म्बक जीन ऩूर 
होता है :-

सभपष्ट का िुर्द् वॊिक्रभ का अॊत: प्रजात का ऩुनमोख्जत अॊत: प्रजात 
क्रभ का

41 नचत्रण सभपष्ट होती है :- आय आई एर(एस) F₁  सॊतनत अॊत: प्रजात िुर्द्वॊि क्रभ

42
ननम्ननरख्खत जीन सभूहं भं से द्वकसभं उवणय सॊकय 
ऩैदा होते है ?

जीऩी 1 जीऩी 2 जीऩी 3 जीऩी 4

43 भक्के का ऩादऩ होता है :- उबमानरॊगािमी एकनरॊगािमी उबमनरॊगी इनभं से सबी

44 वाम ुिाया ऩयागण सवणननष्ठ है :- दारं भं आद्वकण ड्स भं घासकुर भं कुभुदं भं

45 होरेख्न्िक जीन्स होते है :-
दैद्वहक गुणसूत्रं ऩय उऩख्स्थत 
जीन

X गुणसूत्रं ऩय उऩख्स्थत 
जीन

Y गुणसूत्रं ऩय उऩख्स्थत 
जीन

द्वकसी बी गुणसूत्र ऩय 
उऩख्स्थत जीन

46 स्िूडंि का 'िी िेस्ि' प्रमुि होता है :- मुख्ग्भत पे्रऺणं के साथ अमुख्ग्भत पे्रऺणं के 
साथ

मुग्भ एवॊ अमुख्ग्भत 
पे्रऺणं के साथ इनभं से कोई नहीॊ

47 एक मुगरी भं होते है :-
दो यज्जुक एवॊ एक 
सेन्ट्रोभीमय

दो यज्जुक एवॊ दो 
सेन्ट्रोभीमय

चाय यज्जुक एवॊ दो 
सेन्ट्रोभीमय

चाय यज्जुक एवॊ चाय' 

सेन्ट्रोभीमय

48 वयण तीव्रता प्रदनिणत की जाती है :- r R
₂ bᵢ k

49 पविेष सॊमोजन ऺभता का आॊकरन द्वकमा जाता है :- अर्द्ण सहोदय ऩरयवायं से ऩूणण सहोदय ऩरयवायं से एकर सॊकयं से अॊत: प्रजात क्रभ से

50 याई का द्वितीम उद्गभ स्थर कहाॉ है ? अपगाननस्तान चीन भध्म अभेरयका द्वहन्दसु्तान

51 ऩादऩ जैव प्रौद्योनगकी भं िानभर है :-
ऩौधं से भूपमवान उत्ऩादं 
की उत्ऩपत्त

वाॊनित जीनप्रारूऩं का 
िीघ्र क्रोनीम गुणन

पवषाणु भुि ऩौधं का 
उत्ऩादन इनभं से सबी



52
द्वक्रस क्रॉस वॊिागनत द्वकस प्रकाय के जीन वॊिागनत भं 
राग ूहोती है :-

नरॊग सहरग्न जीन वॊिागनत नरॊगप्रबापवत जीन 
वॊिागनत नरॊगसीनभत जीन वॊिागनत कोनिकाद्र्वीम वॊिागनत

53 कृपत्रभ फीज होते है :- प्रमोगिारा भं उत्ऩाद्वदत फीज जैर भं प्रावरयत फीज जैर भं प्रावरयत कानमक 
भ्रूण

जैर भं प्रावरयत 
कानमक कोनिकाऐ

54
ऩी ऩी वी एवॊ एप आय एक्ि 2001 कफ राग ूहुआ था 
?

जनवयी 2002 जनवयी 2003 जनवयी 2004 जनवयी 2005

55

मद्वद फाजये की उऩज का औसत एवॊ भानक पवचरन 
क्रभि: 20 द्वकग्रा एवॊ 5 द्वकग्रा है तो पवपवधता गुणाॊक 
होगा :-

15% 20% 25% 30%

56 गॊजाऩन भानव भं द्वकसका उदहायण है ? नरॊग सहरग्न रऺण नरॊगप्रबापवत रऺण नरॊगसीनभत रऺण कोनिकद्रव्मी वॊिागनत 
रऺण

57
अगय एर x िी द्वडज़ाइन भं ऩयीऺण वॊिक्रभ के रूऩ 
भं बी उन्ही राइनो  को प्रमोग द्वकमा  जाए तो :-

मह आॊनिक डाईएनरर 
द्वडज़ाइन के फयाफय है

मह एन सी डी 
द्वडज़ाइन II के फयाफय है

मह ऩूणण डाईएनरर 
द्वडज़ाइन के फयाफय है

मह फाईऩेयेन्िर सॊमोग 
द्वडज़ाइन के फयाफय है

58
ननम्ननरख्खत भे से कौन सा कोनिकाॊग कोनिका 
ख्झपरी से नहीॊ नघया है :-

राइसोसोभ स्पेयोसोभ ऩयऑक्सीसोभ याइफोसोभ

59

ऩेयासेख्न्ट्रक इन्वजणन के जीन पवननभम के बॊग - 

सॊमुपि सेत ुचक्र इनभं से द्वकसभे साभन्मतमा ऩामे 
जाते है :-

फाजया भक्का ज्वाय गेहूॉ

60 भेकयोनी गेहूॉ का वैऻाननक नाभ है :- द्वट्रद्विकभ ऐख्स्िवभ द्वट्रद्विकभ ड्मूयभ द्वट्रद्विकभ डाईकोकभ द्वट्रद्विकभ कोभऩेक्िभ

61 #AAROBOT_61_H.png# अऩूणण प्रबापवता प्रबापवता का ननमभ एक जीन की वॊिागनत सह - प्रबापवता

62
मादृख्च्िक सॊमोग सभपष्टक के नरए आतॊरयक प्रजनन 
का गुणाॊक है :-

0 1 2 3

63
उत्ऩरयवतणन प्रजनन के िाया द्वकस रऺण के नरए 
अनधकतभ द्वकस्भं का पवभोचन द्वकमा गमा है :-

रवण सद्वहष्णुता दाने की उत्तभ गुणवत्ता ऊॉ चाई भं वपृर्द् ऊॉ चाई भं कभी



64
आय एन ए से डी एन ए की ओय सूचना का 
ऩरयचरन कहराता है :-

ट्राॊसद्वक्रप्िन ट्राॊसरेिन िेनभननज्भ सैन्ट्रर डोग्भा

65
एक सभपष्ट की आनुवाॊनिक सॊतुरन भं यहने की 
प्रवनृत द्वकससे िाया बॊग हो सकती है :-

चमन के अबाव िाया प्रवास के अबाव िाया मादृख्च्िक सॊगभ के 
अबाव िाया

उत्ऩरयवतणनं के अबाव 
िाया

66
भक्का की दस अन्त: प्रजातं से द्वकतने द्विसॊकयण 
सॊकय फनाए जा सकते है :-

40 240 630 830

67 कऩास भं ऩय ऩयागण की सीभा है :- < 5% 5-30% > 50% इनभं से कोई नहीॊ

68
एक योगजनक की येस सॊयचना द्वकसकी अनुद्वक्रमा से 
ऩरयवनतणत होती है :-

ऩमाणवयण ऩोपषता भं उऩख्स्थत 
प्रनतयोध जीन

योगजनक भं उऩख्स्थत 
प्रनतयोध उग्रता कायक

योगजनक भं येस 
सॊयचना

69
रेक ओऩयॉन भं ननम्न भं से कौन फीिा-
गैरेक्िोसाइडेज एॊजाइभ को कूि कयता है ?

रेक जेड रेक वाई रेक ए ऑऩयेिय

70
चने व भूॊगपरी के फीज गुणन का अनुऩात क्रभि: है 
:-

1 : 10 औय 1 : 20 1 : 20 औय 1 : 10 1 : 8 औय 1 : 10 1 : 10 औय 1 : 8

71 आनुवाॊनिकता द्वकस ऩय ननबणय नहीॊ है :- जीनप्ररूऩी प्रबाव जनसॊख्माॉ का आकाय जीन आवनृतमाॉ ऩमाणवयण

72
प्रनतयोधी जीनं के साथ कुि अवाॊिनीम जीनं की 
सहरग्नता कहराती है :-

सॊगत सहरग्नता आनुवाॊनिक सहरग्नता सहरग्नता कषणण उऩमोगी सहरग्नता

73 कीि प्रनतयोधी प्रजनन अनधक कद्विन है, क्मोद्वक :-
ऩोपषता पवनिष्टता कभ 
नचख्न्हत होती है

साधायणत: सयर 
वॊिागनत

जैपवक उऩबेद प्राम: कभ 
होते है जद्विर वॊिागनत होती है

74 #AAROBOT_74_H.png# 2ⁿ 3ⁿ 4ⁿ 0ⁿ

75 उऩोव का भुख्मारम ख्स्थत है :- म्मूननख भं ख्जनेवा भं योभ भं न्मूमाकण  भं



76 वसा अऩचमन से सॊफर्द् ऩादऩ कोनिकाॊग है :- रोभासोभ नभजोसोभ ग्राइऑक्सीसोभ सूक्ष्भ ननरका

77
द्वकस  आनुवाॊनिकी प्रकाय का ऩुन: घिन सॊबव नहीॊ 
है :-

सॊकय सॊख्श्लष्ट  सभपष्ट फहु क्रभी सॊकुर सभपष्ट

78
अन्त: प्रजात भं सुधाय के नरए ननम्ननरख्खत से द्वकस 
पवनध का प्रमोग नहीॊ द्वकमा जाता है ?

वॊिावरी चमन सभूह चमन मुग्भक चमन फेकक्रास पवनध

79
फीज ख्जसकी नभी 9-10 प्रनतित है, 90° F तक 
ताऩभान ऩय उसका बवडायण कार   होगा :-

एक वषण का दो वषण का तीन वषण का चाय वषण का

80
भाइट्रोकॉद्वडमा के द्वकस स्थर भं के्रफ चक्र के एॊजाइभ 
ऩाए जाते है :-

फाह्य ख्झपरी आॊतरयक ख्झपरी अॊत: ख्झपरी स्थान भेद्वट्रक्स

81
ननम्न भं से कौनसा ऩयीऺण फीज की जीवन ऺभता 
ऩरयऺण के नरए नहीॊ द्वकमा जाता ?

िी जेड - ऩयीऺण आई सी -ऩयीऺण गाड़ा - ऩयीऺण द्वपनोर ऩयीऺण

82
ननम्ननरख्खत भं से कौनसा डी.एन.ए. अनुक्रभण की 
पवनध नहीॊ है :-

एर एभ - ऩी सी आय एडभान्स पवनध संगय पवनध भेक्सभ नगपफिण पवनध

83

जफ द्वकसी गुण की अनबव्मपि के नरए दोनं 
मोगिीर व अमोगिीर जीन प्रबाव भहत्वऩूणण हो, तफ 
चमन की भुख्म पवनध होगी :-

िुर्द् वॊिक्रभ चमन सभूह चमन सयर आवती चमन ऩायस्ऩरयक आवती चमन

84
सॊकय गेहूॉ के पवकास भं प्रमुि नयफॊध्मता प्राप्त की 
गई है :-

द्वट्रद्विकभ डाईकोकभ से द्वट्रद्विकभ द्विभोपीवी से द्वट्रद्विकभ ड्मूयभ से द्वट्रद्विकभ भोनोकोकभ से

85 अनधकतय उत्ऩरयवनतणत द्वकस्भं उत्ऩाद्वदत हुई है :- ईएभएस के उऩचाय से मूवी द्वकयणं के उऩचाय 
से

सोद्वडमभ एजाइड के 
उऩचाय से

गाभा द्वकयणं के 
उऩचाय से

86

कैरस के गिन के नरए ऩरयऩक्व कोनिकाओॊ का 
पवबज्मोतक के रूऩ भं प्रत्मावतणन की घिना को 
कहते है :-

ऩुन:पवबेदन पवपवबेदन पवबेदन अॊगोउत्ऩादन

87 पवश्व की प्रथभ ऩयाजीनी पसर है :- कऩास सोमाफीन तम्फाकू फ्रेक्स



88
िाकनािी प्रनतयोधकता के नरए आनुवाॊनिक रूऩ से 
सॊिोनधत पसरं के उऩमोग का भुख्म उदे्दश्म है :-

स्वास््म सुयऺा के नरए 
खाद्य वस्तुओॊ भं िाकनािी 
सॊचम को कभ कयना

ऩमाणवयण के अनुकूर 
िाकनािी को 
प्रोत्साद्वहत कयना

िायीरयक िभ के उऩमोग 
के पफना, खेत से 
खयऩतवायं का उन्नभूरन

िाकनािी के उऩमोग 
के पफना खेत से 
खयऩतवायं का 

89 तायाभीया की कौनसी द्वकस्भ अनधसूनचत नहीॊ है ? कयन ताया िी - 27 नयेन्द्र ताया जोफनेय ताया

90 भध्मभ अन्त: प्रजनन ह्रास साभान्म है :- गाजय तथा प्माज भं अपपापपा तथा ज्वाय 
भं भक्का तथा फाजया भं प्माज तथा सूयजभुखी भं

91
कृत्तक चमन िाया सॊकय ओज का स्थामी राब 
ननम्ननरख्खत भं से द्वकस भं नरमा जा सकता है :-

रंनगक प्रजनन वारी पसरं 
भं

अरंनगक प्रजनन वारी 
पसरं भं

आनुवॊनिकी रूऩान्तरयत 
पसरं भं

उत्तक सॊवधणन वारी 
पसरं भं

92 द्वडभफोए द्वकसके पवरुर्द् प्रनतयोधकता प्रदान कयता है :- भक्का िेदक कऩास फारवाभण आभी वाभण तना भक्खी

93
डीएनए नचऩ प्रोद्योनगकी का प्रमोग द्वकमा जा सकता 
है :-

आय एप एर ऩी के सॊसूचन 
भं

आय ए ऩी डी के 
सॊसूचन भं

ए एप एर ऩी के 
सॊसूचन भं

एस एन ऩी के सॊसूचन 
भं

94

आऩस भं मादृख्च्िक सॊगभ को प्रोत्साद्वहत कयने के 
नरए ऩाथणक्म भं जीनप्रारूऩं के एक सभूह (प्राम: 

वयणकृत) का भुि ऩयागण कहराता है :-

द्विजनकीम सॊकयण फहुसॊकयण पत्रभागी सॊकयण प्रतीऩ सॊकयण

95
सभसूत्री पवबाजन भं ननम्न भं से कौनसी अवस्था 
सफसे रघ ुकानरक है ?

प्रोपेज भेिापेज एनापेज िीरोपेज

96
ननम्ननरख्खत भं से एक कौन सा कथन मादृख्च्िक 
सम्ऩूणण ब्रॉक प्रमोग के पवषम भं  सही नहीॊ है ?

प्रत्मेक ब्रॉक भं अन्म 
ब्रॉकं से अरग 
येनडोभाईजेसन द्वकमा जाता है

हय उऩचाय का हय 
ब्रॉक भं, कभ से कभ 
एक फाय द्वदखाई देना 
जरुयी है

प्रत्मेक ब्रॉक भं उऩचायं 
का एक अरग सेि होता 
है

प्रत्मेक ब्रॉक भं 
उऩचायं का 
येनडोभाईजेसन द्वकमा 
जाता है

97
अनुफर्द् चमन के नरए सही कथन का चनुाव कीख्जए 
 :-

सबी रऺणं भं सुधाय एक 
साथ द्वकमा जाता है

रऺणं का सुधाय 
मादृख्च्िक है

रऺणं का सुधाय एक के 
फाद एक का द्वकमा जाता 
है

केवर अनुकूरनता के 
नरए  सुधाय द्वकमा 
जाता है

98 उत्तक सॊवदणन भं फायॊफाय उऩकपचरयॊग पे्ररयत कयती है अस्थामी सॊिोधन कामकीम पवनबन्नता सॊवधणन सदभा कानमक सॊकय



99
ऺेत्र प्रमोगं भं मादृख्च्िक ब्रॉक द्वडज़ाइन के 
अन्तगणत  ब्रॉक की द्वदिा होती है :-

पिीनरिी गे्रडीमन्ि के रॊफवत पिीनरिी गे्रडीमन्ि के 
साभानाॊतय

पिीनरिी गे्रडीमन्ि के 
45° कोण ऩय इनभं से सबी

100 सयसं भं 'नसॊगर रो'/ 'जीयो'  दिाणता है :-
कुर तेर की भात्रा का 
इरूनसक एनसड 4% से कभ

कुर तेर की भात्रा का 
इरूनसक एनसड 2% से 
कभ

कुर तेर की भात्रा का 
ग्रुकोनसनोरेि 2% से कभ

कुर तेर की भात्रा का 
इरूनसक एनसड व 
ग्रुकोनसनोरेि 4% से 
कभ


